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Free Response Practice (19}@ B}

1. Answer the following questions about BeC:{, and its hydrate.
a. Calculate the mass percent of carban in the hydrated solid with the formula BeC2043 H20. {2 points)

b. When heated to 220.°C, BeC:04- 3 H;0 dehydrates completely as represented below:
BeC ;043 H,0(s} > BeC,04(s) +3 H,0(g)
i 3.21 g of BeC,04 3 HoQ is heated to 220.°C, calculate each of the following:
i. The mass of BeC,0s formed. (1 point}
. The volume of H:0{g) released, measured at 220.°C and 735 mmHg. (2 points}

A student repeats the dehydration from part (b} in an attempt to experimentally determine the number of
moles of water in one mole of BeZ; (4 -3 Ha 0. The student collects the data shown in the table below.

Mass of empty crucible 3648¢g
Initial mass of sample and crucible 39.65g
Mass of sample and crucible after first heating 38872

€. Use the data above to:
i. Calculate the total number of moles of water lost when the sample was heated. {1 point}

it. Determine the formula of the hydrated compound. {2 poinis}

d. s the student’s experimentally determined waters of hydration greater than, less than, or equal to the
waters of hydration in the accepted formula? Provide a reasonable explanation for error and how this.
error affected the student’s resuits. {2 points)
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